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23. Three mangoes, four guavas and five 23. #71 am, AR amwg, N uie avgw @
watermelons cost Rs.750. Ten watermelons, Qwamgﬁtlmmvzmmi
six mangoes and nine guavas cost Rs. 1580. mﬂtuysumtmm.g

What is the cost of six mangoes, ten AR AR AR g B e fraf @
watermelons and four guavas ? . ‘ ‘
a) 1 a) 1280
1180 by 1180
c) 1080 c) 1080

d) Can't be determined d) fAuffra a8 o an s






1’1
3I5. Inthesum® + 1M +SMemMmemt 35 THE + 1M s SMemMmeml=1mm
= 1 M for which digit does the symbol i ¥ Ufle m & == W #¥-w1 o amgm ?
stand ? UPSC PT 2020

2 3 > X2 RTI|R +SRTEYQ
b) 3 — 3 .
c))l E - Y\Z’/‘ +X¥\:\Q$

d) 5 &05 7%)\
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umnxu‘%&v%w#m 36. WA #fY A3sC aw1 DEF WR-IW! ¥
where each letter represents a different digit #@IY ¥ el yedw s 3 | ¥H wmaEm
greater than 3. If the sum of the numbers is @1 ®1 Prsfta »7d ¥ o} wwnadt =1 o
15902, then what is the difference between 15902 B, @ A 3 D & wm & @w »1 a7

the values of A and D ? upscer2020 a2

o1 @3 | Cf = o'y VAL

|}
7 2 L e e i T
d) 4 8 d) 4 FaRE OF

+€
E




38. How many pairs of natural numbers are 38. wpfaw dana & 2R el i § s
there such that the difference of whose W ®TdaT638?

:qnuuh“? UPSC PT 2020 )(1__ ’2___

C DB e Sl wi.
)5 J J 7 s <)\-a)<l+3)~\ XéB
d) 2 d) 2 X-J:’,)‘W =43 ’iXa,)

ey e, 7 XS




B L
'5»&\0”\;%2%)“— AB(XDEETD = AU

X \0D)| = ASERT
47. 1f ABC x DEED = ABCABC; where A, B, C, D 47. Uf ABC x DEED = ABCABC; WET A, B, C, D
and E are different digits, what are the values ahlmmdvt pReduATNE?

ORI O 1o KR W DR E W

a) D=2,E=0 D:2F>v 4 De2E=0 M\Q 7
b) -:.!-l D=0, €= Io/ =0,E=1
\};/E-l::-: b‘l C’Oq :-:: :
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58. Let p be 2 two-digit number and q be the umﬂh.#ﬁdw@t&
number consisting of same digits written in reverse fAufta mw & faraht né wwr ww avefht wam B of?
order. i pxq=2430, then what is the difference puq-2430, @l p 3¥ q & v arav 2

between p and q? UPSC PT 2022

a) 45 - — a) 45 .EXQ‘.L: 2y 3_0._
b) 27 Y'jg b) 27
N et

o 18 @L;‘g\./ Q 18
0 2 SIS




x e =\\—DC{ KRCADEF =)

%ﬂ'ﬁ +3:3() gL —
anucunw & bot 3%malﬁmmwﬁsww&w
such that A, B, C, D, £ and F are distinct non- WO € ¥ A, 8, C. D, £ 3R ¢ sEm-3em Mx.
zero digits such that ABC + DEF = 1111, then Y0 3® B, a1 wan § @ asc + DEF = 1111,
what is the value of A +B+ C + D + E+ F? MAB+C+D+E+FOITHR TR ?

UPSC PT 2023

a) 28 C_’t’f—;\) a) 28 AR C
- L e e e >CL

<) ¢ 30 e
Jz Aﬂ AR % R
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64. Three of the five positive integers p, q. 1, 5, t are “m‘*p.gr.gt'iﬁﬂ.ﬁ
even and two of them are odd (not necessarily in JH A 3 fwn § wrefl 7t o gt ow A o)) Py

order) Consider the following #fav
1. p* q + r-s-tis definitely even. 1 poqor%“*ﬂ!"l
2. 2.2p + q + 2r- 25 + tis definitely odd. 2.2p + q + 2r - 25 + t Pifiym fvwws v B
Which of the above statements is/are correct ? Ivites # A ¥ wyR wwa W@ 2
UPSC PT 2023

a) 1only a) A a1

b) 2only b) | dam2

¢) Both1and2 o 4129

d) Neither 1 nor 2 damiaaf




1. (p+ ©)/ (p- c) can be even. %’«/C_ = % QOQIuﬂwﬂ“'l

2. 2p + ccan be odd. w,.tc__
3. pccan be odd OXC—
Which of the statements given above are correct?
UPSC PT 2023
a) 1 and 2 only
b) 2 and 3 only
c) 1 and 3 only

2. 2p +  fwm wan 9 wedt )
3. pcmusEnue@® )
s Rvmeriddash- Al

a) Sum v 2
b) daw2 a3
o awm1 a3

Ldrdam, 203
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66. A 3-digit number ABC, éa multiplication 66. T® 3-3¥1T ¥ @ DR TN BT W

with D gives 37DD where A, B, C and D are (370D UIa 81a1 § W81 A_ B, C 3 D e e
different non-zero digits. What is the value of N7 Biasscm a2

A+B+C? UPSC PT 2023 2
el 18 ?DD
b) 16 b) 16

€ 15 ¢ 15
d) Cannot be determined due to ) ugfa 321 & wrw Auifva =@ fw
insufficient data o A
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